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T OMEEEY AIRDF

5482 (t)
16,272 (Mcal)

ZDHESEY RS

0.791 (t)

ASR AIENZE |
0.686 (t)

4,427 (Mcal)

ASR K%

0.314 (t)
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BRAR
. 1.699 (t-ASREJ#A%5)
5.214 (t) X
2,103 Mcal/t =
7,109 (Mcal) + 6,453 Mcal/t-ASRE[#A%> =
4,944 (Mcal) + 1.699 (t-ASRAJA L)
(33) (Mcal) +
180 (Mcal) +
588 (Mcal) + A RS A AR )L (mix) & i ER
504 (Mcal) + S 0.035 (t-ASREJA%S)
0 (Mcal) + RIL, 1.133 (t) X i
0 (Mcal) + 1) 200 Mcal/t =
680 (Mcal) + H 6,453 Mcal/t-ASRA[ k%> =
4,427 (Mcal) + 4 0.035 (t—-ASREJA%H)
2,300 (Mcal) )= 9
6,453 (Mcal/t-ASRAE[/A%) = L
3.208 (t-ASRAE[#%)) )
5
|RST
: 1.112 ()
0.332 + BEE
0.113 (t) + —> 0.044 (t)
0.325 () + .
0.010 (t) + . [BEARIL(mix)
0.001 (t) + 0.021 (t)
0.003 (t) +
0.007 (t) + . EI=HR AR
0.000 (t) + 0.297 (t)
0.000 () +
0.314 (1) +
0.000 () =
1.105 (t)
BARDEH 3.208 (t-ASRE[#%%) BT RJLF— 1.734 (t-ASRE[#A%)
+EA RS 1.105 (t) +ERTTYTIL 1474 (v)
BAE 4313 (t) EURE 3.208 (t)
B4 ET 3.208 (t)
— WAE 4313 (t)
ASR¥ AT 5% E A EE 0.74
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